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1. Introduction

In its latest meeting (T1#25) T1 has reviewed two CR’s to TS34.121 test case 8.7.3A, corresponding test case A9.1.3A in TS25.133. One of these CR’s [1] was created to reduce the complexity of the test system and the other [2] to fulfill the core requirement requiring 90% of the measurements to be correct. When reviewing these CR’s T1 identified two problems effecting the testability of the test case. These CR’s were agreed in principle but because of the problems presented below these CR’s were only noted in this meeting.

Problem1) Currently the test case requires 6 simultaneous GSM neighboring cells. This will result complexity to the test system that is not required in other test cases. 

Problem2) Currently in order to verify the test requirements, testing time will become very long.

These two problems make the test as it is now untestable and T1 has requested GCF UAG to suspend this test case from UAG high priority test case list until a solution has been found.

Possible solutions:

· Regarding complexity of the test system

T1 has reviewed the attached document [1] and in principle agreed that from test system point of view the amount of simultaneous GSM neighboring cells should be reduced from 6 to 2. T1 would kindly ask RAN4 to consider this approach and see whether that is acceptable.

· Regarding the test time

T1 has agreed that in order to achieve the required confidence for 90% of the measurements to be correct, the amount of repetitions required in this test case will be 1000. Statistical optimization could reduce this amount somewhat but not significantly. Currently the testing time can be calculated as follows:

tmeasurement= 5 environments*1000 repetitions*120,5 reporting periods*500ms (reporting period) 

This will result testing time over 3 days 11 hours. This will make the test untestable. From the equation above we can see that possible ways to reduce the testing time are:

a) To reduce amount of testing environments, (normal, TL/VL, TL/VH, TH/VL, TH/VH)

b) To remove or reduce the requirement for 90% of measurements to be correct. This would reduce the amont of repetitions, especially because the test is performed in static propagation conditions. In the case that this requirement is removed, there would be no need for repetitions at all.

c) Reduce the amount of required steps in the measurements. This will reduce the amount of required reporting periods per repetition.

d) Make the reporting period shorter

T1 kindly asks RAN4 to review the options above and make the needed modifications to TS25.133 to make this test testable.

2. Actions 

To RAN4:

· To consider the possibility to test this test case with two simultaneous GSM cells instead of 6 simultanous GSM cells

· To consider how this test case could be modified to reduce the testing time to testable level
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[1] T1-041864 Change of test method in TC 8.7.3A 
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